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401 AIEHIZSOYI 160,000 200,000 A40,000
= 80,000
= 80,000
01 Al&HI 160,000 200,000 A40,000
© SHXT B4 A
160,000,000 * 14 160,000
= 80,000
[ia 80,000




SN AL D
M sEG A
CHol: E A B R b k)
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 il b o bRz
FHRESYL AL 40,000 0 40,000
= 20,000
2 20,000
401 AlEHILL 0 40,000 0 40,000
= 20,000
2 20,000
01 AlZH] 40,000 0 40,000
OFYPN =SYLIANY 40,000
= 20,000
2 20,000
THE 242l ARl (S A2 T 580,000 0 580,000
= 580,000
401 Al&HI L= O] 430,000 0 430,000
= 430,000
01 Al&H] 430,000 0 430,000
© 0I2-T A2 HYIZ A 50,000
= 50,000
O YANTSZHHIZA 60,000
= 60,000
O NEXPSEHHIZA 50,000
= 50,000
O HINTSZIZHIBA 50,000
= 50,000
O HEBS2IHHIBA 50,000
= 50,000
© SBUXPSEIHIZA 40,000
= 40,000
O ELNTSZIHHIBA 40,000
= 40,000
© SENTSZIHIZA 30,000
= 30,000
O NENTS2IHHIZA 30,000
= 30,000
© RYNTSZIHIZA 30,000
= 30,000




AN HETHE
N ==
(=R I

CHl: 50 AD| B b Rk
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 giﬂgﬁ; B2
403 TXISHSKH=0IH 150,000 0 150,000
= 150,000
02 ZOIZSOICHE A A b] 50,000 0 150,000
O HENTS2YS+2EY| 50,000
= 50,000
O NEXPS2IHIZA 50,000
= 50,000
O EYXNPS2IUIZA 50,000
= 50,000
5 24 TH o 0l 398,000 1,547,000 A1, 149,000
2 291,000
= 53,500
2 53,500
NEREIETE SIBTI=RS 273,000 1,467,000 A1, 194,000
= 191,000
= 41,000
2 41,000
401 AlZHIL2 O 273,000 1,467,000 A1, 194,000
= 191,000
= 41,000
2 41,000
01 Al&H] 263,000 1,457,000 A1,194,000
O SEH NHSHA 263,000
2 184,000
= 39,500
2 39,500
03 Al&=CHY] 10,000 10,000 0
O SEMMESEAY AlE 2] 10,000
- 7,000
= 1,500
2 1,500
SEV T E= Ry T 125,000 80,000 45,000
= 100,000
= 12,500
2 2,500




SN AT
Hm: sEEA5 A
Chl: 5504 T of 0 2 (50 &2
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
401 AlEHIL =0 125,000 80,000 45,000
= 100,000
= 12,500
2 12,500
01 AI&H] 125,000 80,000 45,000
© BLHHIB SN ALY 125,000
2 100,000
= 12,500
2 12,500
SEX N 5,639,000 5,097,250 541,750
= 3,594,000
= 410,250
2 1,634,750
CELESIEIES 3,064,000 3,954,000 830,000
= 2,145,000
= 268,250
2 650, 750
401 AlSHIL 2O 3,064,000 3,954,000 830,000
= 2,145,000
= 268, 250
2 650, 750
01 A&l 3,054,000 3,944,000 890,000
© HFIIBISBAY(3KT) 3,054,000
2 2,138,000
= 266, 750
2 649,250
03 Al&=CHH] 10,000 10,000 0
© FFIIBHBAMY ALY 10,000
2 7,000
= 1,500
2 1,500
HAGSEH 950,000 768,250 181,750
= 315,000
2 635,000
403 TIXISHSKHE20IE 950,000 768,250 181,750
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2A: A TH St
By sEZE2AG K
o9l S EX N Rk
K- E3 .S (3H) - MBAY - B gggf; HRS2
403 ANXSHHSAE0H g 315,000
2 635,000
02 ZJ|2SOCHECHEAFS Y] 950,000 768,250 181,750
O &IIXNT HADS ZHEAY 950,000
g 315,000
o 635,000
SE0I2 SEMHY 1,625,000 375,000 1,250,000
rag 1,134,000
== 142,000
iy 349,000
301 dE8BAMZ 5,000 0 5,000
10 SAIAHIEAZ 5,000 0 5,000
O =s=0ISTEMNLAE 5,000
403 XXM SKHE01H 1,620,000 375,000 1,245,000
g 1,134,000
== 142,000
iy 344,000
02 SJI2SOCHSCHEEAFHI ,620,000 375,000 1,245,000
O S ==0ISESEHLEAY ,620,000
rag , 134,000
< 142,000
= 344,000
cEAHE ,252,045 3,836,700 5,415,345
i 400,000
== , 130,000
iy , 722,045
S X2 1,062,045 877,200 184,845
= 130,000
o 932,045
ZR7 X zZ2| 30,670 29,825 845
201 BRI 21,670 20,825 845
01 AtR22id] 5,120 7,120 A 2,000
© Lo+gY| 4,000
O 288 NPT 2 2,000
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CAA T
224
S22

i} _ _ bolEN=
2AH -3 - SH2A(SH) - MEAMY - BHES @;OH Hl =2
O E2E42 OHF2HE U INgE 2
o 2,000
0o 2g4+4 70,0002 *4H *43] 1,120
02 2229 16,550 13,705 2,845
O ™2H| 11,850
O I, ANED, LEI(FLR)
1,600 «9CH*112| B x60L 9,504
O MNeEz2H(ER) 1,500 *462| E{ *34 2,346
© A&EH S 4,700
O SHol=x2el 100, 000! *12H 1,200
O ziEJ|22 100,000 x23] 200
O §ZEa o HAEH 2 3,000
O XNES2ES ¥ SHEL
150,000 x23| 300
206 X2 Hl 8,300 8,300 0
01 24 8,300 8,300 0
O 2RI HEPY 8,300
O Uz HEY 7Y 10,0002 *100CH 1,000
O C2RINELNS(Het2s 224,206t
c)7e 1,500,000 x3& 4,500
O C2E HoE(HSsH2HE)2Y
70,0002 x40S 2,800
405 KHAHE S 700 700 0
01 XAMLESEFSH 700 700 0
O WxI| P 350,000 *2CH 700
so2xea 51,000 52,000 A 1,000
203 AP =ZH| 1,000 2,000 A1,000
03 AIM=XAD=ZY| 1,000 2,000 A1,000
O e BAALE=X 1,000
O 2Baazx3x 20,0002 * 10X x53] 1,000
401 AlSHIL2CHY] 50,000 50,000 0
01 Al&H] 50,000 50,000 0
O AUZE ALEZAIZ2A DX 24 50,000
Sor2d 9 XAZ Hy| 455,000 150,000 305,000
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CAA T
224
S22

SN S(B) - NRAY - B2 Aro e =2
401 A& HIZ 20| 455,000 150,000 305,000
01 Al&HI 450,000 150,000 300,000

O OtsetzdeEx 2 KX 2tel 300,000
O TANHEEZ sX2el 50,000
O XZOts &Y= FHl 100,000
03 AIZ=C0HHI 5,000 0 5,000
© Al£Hl ¥ =2014] 5,000

E2 WEE A 5,375 5,375 0
101 ol | 5,375 5,375 0
10 JIZtHZ2Z2NSES 5,375 5,375 0

O WSEXA Q1A 5,375
O 1Al 36,330R 6 x21I & 4,578
O 2tAld| 3,000 *6IH #2100 %1 378
O As=2E= 419

ZU0ts dYE2 EHISA 100,000 50,000 50,000
401 AIEHIZLROY| 100,000 50,000 50,000
01 A&l 100,000 50,000 50,000

O ZWOISMYZHHISA 100,000

LS ZHISA 100,000 0 100,000
401 Al &HIZ 204 100,000 0 100,000
01 Al&HI 100,000 0 100,000

O I uEZHIZSA 100,000

T2 HXE Z| 30,000 0 30,000
401 AIEHIZL=2OY| 30,000 0 30,000
01 Al&HI 30,000 0 30,000

O T HEXIEHYI 30,000

S=2EHl SI| AXAE 10,000 10,000 0
401 AIEHIZL RO 10,000 10,000 0
03 AIZSC0HHI 10,000 10,000 0

O E=23dH I8z 10,000

A4k MYEZ Hl 150,000 0 150,000

401 AU =204 150,000 0 150,000
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SN AL TH D
M c2A4

e S22 2e (&2 &2
SN (B) - MBEAY - B2 Aol Soe HRZ2
01 Al&HbI 150,000 0 150,000
O 246 MNATZHH| 150,000
HEHL A 130,000 0 130,000
= 130,000
401 AIEHIZL 20| 130,000 0 130,000
= 130,000
01 Al&H| 130,000 0 130,000
O 802X =z | 50,000
o= 50,000
O "ot &t 30,000
= 30,000
O sH0Iset A | 50,000
< 50,000
2 EAY 5,720,000 1,657,500 4,062,500
& 4,000,000
iy 1,720,000
=AY 5,420,000 1,657,500 3,762,500
= 4,000,000
iy 1,420,000
401 AIEHIZ 20| 5,420,000 1,657,500 3,762,500
& 4,000,000
iy 1,420,000
01 Al&H| 5,400,000 1,650,000 3,750,000
O ZEAY 1,400,000
O dE~NE2t TS EILEALS 50,000
O Jts-2s2t T2 T IHAIY
,ALAIEAHIHI) 100,000
O SM~TAM2H TS ST EALS 350,000
O HA~EE2F S E L EALS 400,000
O FH-242 TRETIALY 200,000
O S~ TS EILEALS 300,000
O ES~U=s2t==2 8 ZA(1000+10002 =2
ME XA ) 4,000,000
< 4,000,000
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DA

T EE2AHA
D EEAY (el &)
SAH-HH . () - MBEAY - BHA2 Ao dd = HRS2
0 &+ 08
03 Al&20iY] 20,000 7,500 12,500
O ZEZAIS AL 200 20,000
Tz S X 2el At 300,000 0 300,000
401 AlEZHIZLE204Y] 300,000 0 300,000
01 Al&H| 300,000 0 300,000
O ZEELAMY 200,000
O TMR2I|AH 100,000
SHETZAY 1,670,000 202,000 1,468,000
SO ETRAMY 1,470,000 202,000 1,268,000
401 Al&HIL LY 1,470,000 202,000 1,268,000
01 Al&Hl ,470,000 200,000 1,270,000
O sHEEZAMY ,470,000
O HHE(DEI103) 2 L& (E X0
HI) 350,000
O 228(HRI0) 2T A (EX L
HI) 220,000
O US~R2H2t TS EITEALS 500,000
O =02 RIZ=ZIME S At 400,000
SHEZZ XN 2elAE 200,000 0 200,000
401 AIEHIZL 204 200,000 0 200,000
01 Al&H| 200,000 0 200,000
OsHEEZ SAE2AIY 200,000
AsSAnsS2e| NS A 800,000 1,100,000 300,000
g 400,000
iy 400,000
FIEETE2RANEAIS 600,000 500,000 100,000
g 300,000
iy 300,000
401 AlZHIZLE204b] 600,000 500,000 100,000
2 300,000
2 300,000
01 Al&H] 600,000 500,000 100,000
O RIEE=2FREX MMEAE 600,000
g 300,000

_25_




SN AL TH D
M c2A4

@ AASxnsS2el &AL (&2 &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
= 300,000
Hel0IES YA 200,000 600,000 A 400,000
ray 100,000
iy 100,000
401 AlZHIZLE204b] 200,000 600,000 400,000
= 100,000
2 100,000
01 Al&H| 200,000 600,000 A 400,000
O HEoIBSREIMNAAIS 200,000
g 100,000
= 100,000
MEEs 236,410 131,560 104,850
LHEHH X & (AL TH D) 127,910 131,560 N 3,650
Met2e|d 28 s2 127,910 131,560 A 3,650
702 JI2EE2 127,910 131,560 AN 3,650
01 JI2dE=E==2 127,910 131,560 A 3,650
O MuzeDI2 d&=2 127,910
L=PSPNES 108,500 0 108,500
EHSHSILIOF =S ALY X2 Ol Xhakst 108,500 0 108,500
311 X+ 30| Atatst 108,500 0 108,500
02 Al -2 ZXGHLI SIS0 K4S 108,500 0 108,500
OB S0 LIOt==ol =7 AL E A2 0| AHak &t 108,500
HE2FZHI 372,041 394,458 N22,417
OlHARHH| (AL TH D) 290,805 292,905 A2,100
THESLR o8 286,605 286,605 0
101 214 4| 286,605 286,605 0
09 RIAHAZZXNE=S 286,605 286,605 0
O EE2E4& 21AHH| 286,605
O Jl2= 38,870& x 132 *300L! 151,593
O 2GS 151,593,000 *10% 15,160
O &3 151,593,000& 4/ 12& 50,531
O A2 R+
7,290% 13 *15A1 2tx 12 17,059
O dxisass< 38,870x13H %18 9,096
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SN AL D
HE: H2 S|
chel: o2l (AT D) (S5 & 2)
_ _ _ Muo
Mo E - SRI(3]) - HRAY - BES Aboy e HIRZE2
SETCELE] 38,8702 *13% #522 26,277
SR EEE] 275,402, 0002 %3.3% 9,089
O ol 50,0002 13 * 122 7,800
SN2 4,200 6,300 A2,100
203 ARFXY| 4,200 6,300 £2,100
04 SN=ZLL=Y| 4,200 6,300 A2,100
SN2YYR =AY 350,0002! * 122 4,200
= | (A& T ) 81,236 101,553 £20,317
Br2 | 27,056 22,002 4,834
201 LPr2y| 27,056 22,0202 4,834
01 AFRzelt] 24,640 20,324 4,316
IRIRS =T 20,406
O 2N2gII=28H| 7,835
O BRUFUMES442
50,0002 +202 X| 1,000
O 2TRWUSHL42
50,0002 ¥30Z X 4,500
O s28840H 60, 0002 %2074 £ 1,200
O ZADIEH(SE) 7Y 300, 0002 63| 1,800
O HOIZRIEIISHEH(EYTY)
20,0002 10| 1,200
O HOIHTRIEIILAEH(SEERY)
400,00021 #43] 1,600
O ASTZANLBYBNSI I RL 44
2 1,00021%1, 2712 X 1,271
© 2l 4,234
02 ZZ2YHI 2,416 1,898 518
3T22 2 MA 400
ST 1, 20021 +8.421 E1 1002 #2CH 2,016
01l 54, 180 44,535 9,645
202 o1t 54, 180 44,535 9,645
01 =Loit] 54, 180 44,535 9,645
Il 248 01U| 50,0008 %2124 *122 37,800
SIE STl 65,0002 %2124 %122 16,380

_27_




